11 11 22 1
lOgl(4\/_) log % =—2'?=—?:—7§

4_910g73+1 — 4910973+log77 — 4910g721 — 7210g721

= 7109721 = 212 = 441

logsx + 4log,(2x) —9 =0
OJ13 x>0
logsx + 4log,x + 4log,2 — 9 = 0
logsx + 4log,x +4—9 =0
logx + 4log,x —5 =0
BBesiem 3ameHy nepeMeHHOH log,x =t
t?+4t—-5=0
D =16+ 20 = 36



BepHeMcs k 3aMeHe nnepeMeHHoM log,x = 1

x1 — 21 — 2
log,x = =5
1
Xy, = 2_5 :i

log;(2x + 1) + logz(x — 3) = 2

2x +1> 0 >{2x>—1 >{x>——

OEB'{x—3>0 S=2 Uxs>3 <5

O/I3: x > 3
log;((2x +1)(x —3)) =2
2x + D(x —3) =32
2x*—5x—3=9
2x>—=5x—12=0
D=254+96 =121



X, = % = —1,5 ne ynosnerBopsier O/13

OtBeT x=4



